residuo

violin part
Bernardo Barros

\
] ¢'=64 scandalized

II 11

H\/ 1 m 1 mSimile
v i
—— o) i
L des: 8 ’21
mg‘: I : ﬁ; T T
glﬂ-— 'Drl I L
2 |)-01 3 =81
6 7 4 3 3 3 5 4 4 4 3 5 3 4
14,8 16 8 8 8 8 8 8 8 8 8 8 8
vin [ i i i i i i : | : : : : : |
Ibl} I I I I I I I | | I I I I I 1
rying to find a meaning to the apparent disorder
4 ryme glot % ' gettato 4 5 4 3
58 ¢ "o 8 m== T g e 8 _ 8 e . 8 % 8
| "4 Y T T T | T o #Tlg 1P o T r i S T ﬂ:‘
vin fés e — t —f 7S E‘ — o — : i i \' ¢ i ) ¢ e s B s
|bv *? — i & i Z — = = 397_ b‘i#/i\;"?“ﬁ’
f—wp s v P P——ff PP———uf PP - 4



ol
[4p) L &
2
=
&l S
< © ‘\Y
o O |\[1]]
*
I
I
I
I
I
I
I
I
I
|
> -
O O ]
3 L
11
< 0O |
Yo m
5
T W
e >
-dw
e
\
O O
e

I

I II III'IV II II
54— ——— 54—

IVIID II

4
# . /—\&

L

S -—-——-———-Tp

7
I

4
'3

4
8

—

4 |)-64

I
b
s

Iy
b
it

~

1
gll

m <<

III

40 ()8 111

)" A
| N

H
ANV

vin

v

1T ‘

— A~

v

v

5| J)=51

T e

32— 6
8
T
1 I
T ‘ : b

3:2
—
)

msp

I 1v II
<

I I

I

IV II
<

I

"

48 58
/

2

Hes

vin

legato

P

:

———54——

3:2

3:2

O O
r

53()8

H

vin

6 .35

p

A

i

Pofes 4
i L]
PPPp——— mp.

W
A
I
2 ,_
& | R
I
L St
3 || T
a
NP
O
NEr
_M‘W I—

vin



II 1 I

111

v

111

)
|
I >
% DY

—

- b

.5

"4
A

He
A3V

vin

——— ppPpp —— pp

138
oM
o0 ||| ]]
198
1ol
N
-
o7
« PmFE N
4 \!
o /
+ A
o I\
” ﬁ I
¢ % T
: .,
w N
s
4 gw
o Iy
3
O oo |||
I! "%WV
| | =it
W«
© L4
- dbJ
N oo || ][]
Ak
w\\#d.
> v
LT e
* N
< O ||| v
Loy
red
19
ri
™
<€
8 =
=

p__————— pppp

=
mp

PP _——— PPPP—— pPPP———— __——

p__———pp—p

-
N

senza tempo

7

L)

D=91

9

0

ey

vin

™

pst---~>psp

8| =72

90

"4
| WaN

Hes
A3V
oJ

vin

o7

=

j..f subii

gradually increase range and speed of glissando around main pitch

<

toPpe— f —————p




psp -------» ord msp

,dly
.N,
N
b
FV\A
B,
L YA
-
= ™
o O
Jha
. 0
3 -
ﬁ_—“\A\
N
‘Nw
L E
w0 o ||\

327

o>

AY

II1
&
#

9:8

I1T
L

be—°

95()8
)" A

 ES)
ANV
o

vin

mp ———— ff subitomp

81

10

A

O

8 r 3:2 1
- \‘y;.w,ne"‘qflf
f—— ff—————mnf

T

il —32—
o
S

3:2
— "
m?v

XS

11

32—

1

11
I
r

111

v
6:5
—— =
#o
bl

7:4

juil
i
|
[

-

‘/@

=
I

be

4 F

99()8

E£

Ho
ANV
J

vin

32

32—

32— 98—

~o

V]

7:4
~a.

<

il b

b;o/

9197
ik
N/
E=S
<N O [
b
X
o5
.y
—- I
< o0 ]
N
T

bebg

—ir

) 8
)" 4
2\
[ [anY

| ANV

1
D

vin |

AR

o O

o O

108

"4
| WaN

| ElanY

vin




57

11.)

I

5:4

e

o

b

°
.

d

Q__
I

11:8

a®

pizz.

>
o

h&

775()8

vin

| ElanY

'S >be
_———— ==

I

9:8

T
#

8:7

3:2

120 -
08
| it

—
T

| ElanY
ANIV4

vin

1 o8l
.

o

[} O

L 82 4y —32—

— -

o O

°
24

125

e

0

vin

32




